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16x + 19 = 5(4 + 3x)

13x + 10 = 2(6x + 7)

3(17 + 8x) = 70x - 87
5(2x + 17) = 7x + 112

25 + 13(x + 4) = 4x + 122
15x + 7(8 + 3x) = 15x + 182
5(2x + 15) - 9x = 69

3(7 -2x) + 7x = 20

13x + 4(5 - 3x) = 18

7X + (X + 8):3 = 4x
(Bx+2)2-6x=4
(5x-3)4-8x=0

. (12x +7)3+5x=7

(2-3x)8+4x =6

(15x - 2)-3 + 6x = -23
4(y-3)-2y =5@y + 1)
72z + 1) + 5z = 3(8z - 3)

18 + 5(3x -2) = 2(7x + 1)
(13x - 5)-5 + 21 = (3 + 8x)-8
12a + 6(4 - 7a) = 9(2a + 4)
4x - 15(x - 1) = 2(6 - 3x)

(4x - 3):5 - 6x = -4(5 + 9%)

. (2x-5)9,5-2x=-2(4 - 5x) + 13

Losungen zu Nr. 1
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. -14/41 = -0,341463414634146...

0,5

-1/3 = -0,33333333333...
-17/13 = -1,30769230769231...
3,2

-6

28

-0,25
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-0,1
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Nr.
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12 -(5-x) =10

18- (16-x) =1

11x - 6(2x -1) = 14

14x - (8 +3x):5=0
3(9x-5)-7(4x-3) =8
5(7x + 15) - 2(17x + 25) = 20
3(6-16x)-7(9-7x) =0
6(5 +6x)-(5bx +6)-7=3
23x - 7(3x-2) =x+ 2
26x - 5(bx + 10) = x - 50
85x - (6+9x)-9=3x-5
6(5x - 4) - 3(10x + 2) = 10

.18 + 5(3x - 2) = 2(7x + 1)

(13x-5)-5+ 21 =(3 +8x)8

5(9x - 8) - (8 + 3x)-15 = 13
5x+9)-7(x-9)=11(x - 2)
8(x-1)-3(x-8)=2(5+Xx)

32x +5)-4(x-5)=x+5

5(7x - 6) - 9(8x - 3) = 2(8 - 9x)
7(z-5)-6(2-32) =12(z + 1)
(12y + 3):4-(9-7y)-5=8(3y -5)
6(5a-1) - 13(2a + 5) = 2(7 - 2a)

. 5(2c + 3) - 12(6 - ¢) = 11(4c + 7)

Losungen zu Nr. 2

S<EMYTOTOSITATTSQ@MN0R0T
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59/13 = 4,53846153846154...
-7/59 = -0,11864406779661...
85/8 = 10,625

. -67/11 = -6,090909090909009...
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